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THESE INSTRUCTIONS CA FULLY

1. You have been given this qucstzon booklet and a'separate answer sheet. The question tooklet oontams 50
’ questions. .
2. Do any necessary rough work i in this bookiet. : Lo e
- 3. When you have chosen your answer, mark it on the A.NSWER SH.EET not in the question aper L

. Howxg‘U:»Em.sm’ SHEET,
4, Use an ordinary peucil only. - " ' ' ’

5. Make sure that you have written on the Bnswer sheet:~
YOUR INDEXNUMBER
YOURMNAME v
‘ ‘ " NAME OF YCURSCHOOL | . _
6. " By draviring a dark Bne inside the correct numbe ed boxc.. :nark your full Index Number(i.e. School

) Code Number and the ﬂ:ree—fxgure Candidate’s Number) in the g;nd near the top of the answer sheet.
7. Do not make any marks ourside the boxes.
i Keep your answer sheet as clean as possible and DO NOT FOLD I7.
9. - For each of the Questions 1'- 50 four answers are given. The answers are lettcred A, B, C, D in each case
o -~ only ONE of the four answers is correct. Chocse the correct answer.
10. On the answer sheet show the correct answer by drawing a dark line inside the box in which the let::eryou
_ have chosen:swrm:en ’ :
o -.Example
In the Qnestlon Book!et'
. For qquestions 22 choose the best alternative m complete each sentence
21. Let us walk on foot, —_— 7
~A. shan’t we
B. 'shall we
C. won’t we
. D. isn'tit
The correct answer is B (or)
Ontheanswershee! o '
21. [A) BB [C] D] 22. [A] [B] {C] [D] “23:[A] [BIIC][D] ° 24. [A] [B] {Cl )
In the set of boxe.; numbered ..1 tne box thh letter B pnnted in lt is marked C

. Ti: - Your dark line ’\/IUST BE within the box. -
12. For each quesnon ONLY ONE box is to be marked i m each set of four boxes.
’ This quesnon "paper consists of ' 5 printed pag&s

Candzdate should clzeck the qucstxan paper to ensure that a[i ‘Ite pages are prmted as ma‘lcateti and mo
questions are missing. , " TURN OVER'
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- - Read the passage below. It contains blank spaces numbered 1 to 15. For each blank space , choose the
BEST alternative from the choices given .

Itwasa 1 occasion when Mang’are and Cheredi got married . One year __2__, the couple was blessed
with twin girls. | had the privilege of 3 the twins at the hospital after they were born. They looked tiny and
-4 . The twins were calm and spent a lotof time _ 5 ‘ . . o
’ “When they woke up, however, it was quite a different 6 .~ .Each of them seemed to have a good appetjte
. smdwanted to 7 but their mother found it easier to breastfeed one atatime. '
: 8 of the two was not lucky to be the firest at the breast, screamed her lungs out. Cheredi was at times
= forced to hold the two babies andbreastfeed them 9 ' thesametime. o k _
£ As they grew older, the twins seemed to have _ 0 tomake life very difficult for their parents. As soonas -
‘- onefell asleep, the i1 woke up. They 12 loved with pattern at night. Mang’are and Cheredi had
© . totake - 13 to care for the babies at night. Things have now changed. The twins are bigger and 14
" tohandle. 1tis true they makearacket in the house sometimes , but they are 15 ajoytobehold. :
: 1.A.enjoyment B.song C.joyous o D. pleasures
2.A.downtheline - B.then C.ofcourse D. up the line
? 3.A.noticing — B.seeing C.noting D. experiencing
& A.fragile 4 . B.broken C.damaged D. breakable
E 5.A.looking B. dozing C.sleeping ‘D. dreaming
: 6.A.disturbance . B.moral C.lesson D.'story
K - 7.A.eat B.suckle C.drink D. suck
,.j -~ 8.A.Whoever B.Whatever C.Whenever D. Whomever
e 9. A.in : B.to : .+ C.by D.at .
. -~ 10.A. failed B. thought C.refused D.conspired
f'f‘ 11. A.next - B.following C.other +D.pair
i 12, A. particularly B. everyday C.never ‘D.surely
b 13.A.time B.turns ~ C.cover D.control
14.A.easy B. easiest C.easier _ D.noteasy

-

. alternativeto fillthe blank spaces
. The judge complained that there was only ___

._ 19

E
5

Sk c

20

21

15. ever B.rarely C.never D.always

For guestions 16 - 18 choose the alternative that ~
means the same as the underlined words.

- youngas Kibera. Chore is three years older thuan

16. Mrs.Amoiis very beautiful and bD:gg w&? wfitll be celebrating his sixteenth
* fashionable. A . | irthday this afternoon. '
o - Alsmart B.modemn ; o :
. “ C.shubby . D.stylist 22. Whoisthe youngest .-
- . . . . A.Kabaka B.Kibera
4 17. Thejob applicants were given a cordial welcome . .
% “ ‘ , C.Daniel D.Chore
: A.warmed B.cool . .
. . , L 23. Whoistheoldest _
- C. friendly ‘ D. official A.Kib B. Kabak
~ 18. Thethiefran swiftly through the alloy. - S108Ta o-abaxa
: S . C.Chore - D. Daniel
A.hurriedly , B.quickly I . ; N
C.straight D. fast 24. Howold are Daniel and Chorerespectively

A. Thirteen and sixteen ' ~
' B.Sixteenand thirteen
~ C.Threeand six
' evidence. | | ~ D. Sixteen a'nd pineteen ; )
Atrue ‘ ' B.circumstance - F or questions 25, choasg the alternative
- which best completes the statement given.

Forguestions 19- 21, choose the correct

' C.circumstantial - - D.appeal ' ; : - R
. We barelyhear what Mr. Mali Moto says: + 25. Amuliodo is very lazy. Nevertheless , he is
A.dowe? B.didwe? o quitewseful. '
C. don’t we? ' D. didn’t we? 1 A, Because Amuliodo is lazy, he is also very -
. The project was such a failure that it must have : useful. . . o L
been inthe first place o B. Although Amul_lodo is very lazy, he 1s quite
 A.ill-concieved B. far- fetched useful: .. SRR
" C.best-known D. well - reseached C.Amuliodo is very lazy and very useful

‘For _questions 22 - 24 . read the information
given and choose the correct answer.
Kabaka who is Daniel’s a young brother, is not as

D. Amuliodo is very but never quite useful.
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Read the passage below and answer questions 26 - 38

“What are we having to eat tonight?"asked Noel. * | feel hungry”. “soup,” said mother. “I've got a lot of
vegetables and I'm going.to make some very nice soup. | wonder whether your uncle, Joseph, is coming
today.” 8he went on, | expected he will. He came three times last week, and each time he arrived just as

. food was being cooked. The money your father earns is only just enough to feed our own family, and the
last time, Joseph came. we all had to have less, but he always stays untitheis offered something to eat. |
wish he did not come so often.

If he arrives today and tastes this Iovely food, he will probably keep on coming more often than before. “|
know” said Noel. “When he comes we'll tell him we haven't got any food at all today then perhaps he'll
stop coming here and go somewhere else. “ Hodi, hodi,” said a voice ' oh, hello, Joseph!” “We wste ;ust
thinking about you, weren't we children? What happened’7 You're earlier than ysual” * : by”
said uncle Joseph. “So | thought I'd come in and see how the children were. | ‘d hea it said that Noel is ill
and.| wouldn't like a relation of mine to think | didn’t care about her. By the way he wenton . “l thought =
you would be busy cooking. -

What are you having to eat today? I'm not sure whether there’ll be any food cooked at our house this
evening. “Well that'sthe trouble.” Said the children’s mother. “We've eaten all the food t boughtxesterday
and there is nothing at all left for today. | don’t know what my husband will say when he comes home and
gets nothing to eat, He always likes his food put.out as soon as he arrives. |sn't |ttgrgglel"

e — :
26. What meal was mother gBolng to make? house in the first place .~
A. Vegetable soup . Meat soup ~ B.thathewas passing bythemadsnde
C.Beansoup D. Joseph S soup | -~ C.thathe had notheen going: here
27.Whowas Joseph inthe pass %e D that he had been going pasttk house for
A.Mother'suncle - Father'suncie -
C. Noel's uncle D We can'ttell 34. “Well that's the trouble,” said the cht,tdreh s
28. From the passage, it can be understood that mother. What did the mother meanhafe :
Joseph's visits were pu rposel?; A. Father had not bought food
A.to eatfood B. to hélp the family B. They too had nofood to eat
C.togreethis relatives: D.!don'tknow ‘ C. Joseph did not care about hisfamily
29. Why do you think mother did not like D. Joseph was selfish
Joseph's visits any more? . - 35. From the passage , we can conclude that
A. Because Joseph came so ofign L
B. Because whenever he came, he always A the family hated Joseph
~ waited " unti l he B. father and Joseph did not get along wull
~ was offered somethingtoeat. C. the family had aot tire of Joseph’s visits
C. She hated Jaseph ) : -D. Joseph was a bad man . l
P CB’ec:ause he was going to taste the lovely 36. t"HOdl odi” said a voice, whoso voice was
00 v it?
30. “You're earlier than usual” This means that A. Joseph's - B. Mqthet s -
A. Joseph usually came earlier - - C.Father’s D. Noel's
B. Joseph had arnved earller than he usually 37, Which one of the following is NOT true
did s accordmg to the passage?
C. Josephwas always very punctual A. Uncle Jose 'ph had a way of arriving just in
D. Joseph always came late. time foramea .
31. The word “terrible” is underlined in the B. The family-had na food the'last time uncle "
passage. ltmeans ......... Joseph visited
~A.terri lc - B.veryunpleasant C. Uncle Joseph’s last visit was the feurth
C. verg - D.very pleasant o one in the recent past
. 32.Whohad tolc_;l Josephthat Noelwasill? -~ D. Uncle Joseph was not truly passmg byl',
+ A.Noel'smother . B. Noel : as he said.
C.We cannattell- - D. Hisfriends “ | 38. Wthh one of the followmg would be the _
- 33. was just passin g by’ " The truth about this BEST title for the passage?
statementis __ | © A.Theinvitedguest B. Thefool:sh visitar-
A. that Joseph ﬁad intention of entering the C. Mother s uncle - D. Motherand Noel
e —— ————— W
Read the passage below and answer questions 39-50 - L e '

Ferdie the frog sat on . a water lily leaf in the middle of the pond and wrinkled up hlS nose He was
thinking and he always wrinkled up hjs nose when he was thinking. Tomorrow was going to be sports day _
in the pond where he lived and he had very much wanted to win a prize.

Because he was a frog and had very long, strong, back legs he could win the j jumping prize qulte easﬂy
“Buthe had won the prize the previous year. Now Ferdie set his eyes on a different prize.

Among the things he loved most was singing or croaking as some people would like to call it. In his

happiest moments he would sing until tears stood in his eyes and his voice went hoarse. Deep down in

his broad froggy chest he hadone WlSh He longed to be asked to smg wnth the croaking

- Lo \




choir boys, fars >us for miles around as the best frog singers. )
. He sat on his ieaf and waiched, ali the other creatures of the pond practising for the sports. The fish
were twisting and turning for swimming races. The ducks tock dives in turns to see who stayed under water
. ;. the longest. Some dragon flies were swimming along the top of the water like speedboats and a crowd of
- butterflies we & pfactising their flying relay race. ~ ; , _
" 'On the morning of the sports day, a happy Ferdie put his name down for the singing and climbed onto the
_ platform with other singers. Flamingo and geese and sun birds: there was even a duck who sang a comic

> frog’s turn, and he was ciearing his throat ready to stant his song when a great shadow fell over him.

o T He ;o,okgd;pg_’cnly'tc find an enormous bird coming straight at him. But it was not a singing bird. ltwas
““a heron and herons ezt frogs for breakfast, lunch and dinner! But before the heron could gobble him up,

_again. He went on taking great jumps right up into the air until the heron flew away! :
- higher and Ionger than anycne else in the long distance jumping competition!

é'g"ainst herons,and that night he sang it to a crowd of admiring frogs who jumped up and down with:delight.
R (Adopted from sports day at the pond in stories from Rainbow Collins 1964) R

.""38. What does Ferdie the frog do when he.ls A. A dangearous bird which is not a singing
- thinking? R T _ ’ bird app=zrad among the singers
© A Sits on the water lily o B. A great shadow fell over Ferdie
" B. Plan to win a prize " . C. Ferdie was nervous and feared that he.
. C.Wrinkled up hisnose  * ~ ' _could not sing when his turn came. .
D, Sitin ths middle of the pond , D. Everyone laughed at him S
Ferdie did notwant to enter a-jumping ] 45. Onseseing the heron, why did Ferdie jump for
' ‘competition because: : 8 his life ? : R . .
. A.he found it very gasy to win A. Herons are very big birds. -
. 'B. he had won = prize in jumping the previous B. Herons eat frogs
S year o ' Co : C. Herons are singing birds
. C.hewas afraid of being attacked by herons D. Herons do not singing birds
'D.’his strong hind legs would be better used 46. The heron could gobbie him up. The
~ for swimming than for jumping underlined expression means
Inr his happiest moments, Ferdie the frog . A. killed him B. fly away with him
" would sing until his voice went hearse. ) C.swallowhim D. tear him to pieces
- The undertined worcs mean. - 47. Ferdie escaped from his attackers by,
A, he lost his voice ’ ‘ A. jumping again and again
B. he began c¢roaking rather than singing B. taking ardive into the water
*C: his voice became rough-sounding and low C. hiding behind oiner frogs - :
. histhroat was cry and sore S D. scaring the heron away by croaking
Which of these statements about the creatures of | 48, The other frogs clapped and croaked because; |
_ the pond practising for the sports is NOT true 7 v A. Ferdie managed to escape from danger-
- A. The fish were twisting and turning _ B. The other frogs had missed him and
. practising for swimmingraces C welcomed him back - : LT
- B. The ducks tock dives in turns to see who , C. Ferdie had won a prize in'singing as he
co o swam best on the surface of the water - , had done in jumping ' S
- . ' G.Dragon flies swam on the surface ofthe . D. Forthe second year running he had won
S . .- water [ike speed boats o '~ the jumping prize Co
=+ . D Buiterfliss practised for their flying relay réce | 49. Ferdie made the frog community delighted by;
..,... ‘43, Whatdid Ferdie do on the morning ofthe: . A. escaping to safety from a'dangerous = = - |
' sporisday? Lo T . attackbysaheron . - .- L
~ APut his name cown for jumping competition | B. winning the jumping prize for the second” -
~_‘andclimbed ontothe platform -~ .-~} - yearrunning T e w0
- B.Clearedhis throatandwaitedfor -~ |- C.composing and singing a song againstheron - -
eiiS turn fo sing - . D. winning a prize in the singing competition
- C. Put his narme down for the singing 50. Which of thes= descripticns fit Ferdie best ?_
competition and ciimbed onto the platform: . A.He is a great musicias -
- D. Climbed the platform with others and B. He can sasily spot herons .
0 owaited for his turn . - . C. he is a coward -
44, What first made Ferdie sense that therewas | D. Other frogs find it fun to be with Ferdie

danger around him?

“ song and made everyone laugh. Then, just as a sparrow was about to finish a very pretty song, came Ferdie

.’ Ferdie made a great jump into the air and landed on the ground. Then he jumped again..... and again.....and -
-~ Suddenly he found himself in a circle of other frogs all clappir.g and croaking because fi‘é_ had jhmped ,

So far the second year running he had won the jumping prize! He also mads'upvv a épecial croaksong N
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JIINALAKO 7 L , | 1
|NUMBA YAKO : R -
| YA MTEHANI o : :

|amNa LA SHULE YAKO

SOMA MAAGIZO HAYA'KWAMAKIN]

1. Kwenye nafasi zilizoachwa hapo juu, andika nmba:yaka‘dﬁamﬂi ya mtihani, Jina lako,na Jina la
shule yako '

- 2. Sasa fungua Karatasi hii, Soma kichwa cha insha kwa makinina uandike insha yako kwenye
nafasi ulioachiwa.

'KARATASI HILI LA MASWALI LINA KURASA NNE ZILIZO PIGWA CHAPA

Andikainsha ju{) ya methali
- ' “ASIYESIKIA LA MKUUHU

..............

sesnse g ¥ eesscessruneressscansonnne

----------------------------------------

-----

: Fungua Kurasa
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E READ THESE INSTRDCTIO’\'S CAEEFUL_QY

The question bbokxe£ coﬁtain’s 50 e

1. Youhdve been ngen thxs question book}et and a separate answer sheet
,..:;;‘f’ questions. : S
2. " Do any necessary rough work in t.hxs booklet o e g R -
3. " When you have chosen your answer, mark 1t on the ANSWER SH:EET niot in the qaesﬂanpapw

5 _Make surcthatycuhavewutten on ﬂ:eansmrsheet:
'YOUR INDEX NUMEER :
- » YOURNAN[E :
= : NAN!EOFYOURSCHOOL —_—

6. By drawmg a dark line msxde the correct nurnbered boxes mark your full Index Nmber(x.e Schoo! _

~ Cods Number 4nd’the three—ﬁcura Candxdat~ s Number) in the grid near the top of the answer sheet.
7. - - Do not make agy marks outside the boxes. : » '
L8 Keep your answer sheet as clean as possible and DO NOT FOLD IT.

9. For each of the Questions 1 - 30 four answers are given. The answers are teﬁered A, B, C D in each case o

- only ONE of the four answers is correct. Choose the ccrrect answer.

have chosen is written. , R V-
Example: P PR ‘
In the Question Booklet.

A. 20cnor

B. 2cm - |

C. 5em .
... D. 0.5cm
TheconectanswerlsB(Zcm)
On the answer sheet.

&mmmzuﬁmmmlmwmmm

| 11._ Your dark line MUST BE wthmﬂu box.

L 12. For each quesnon ONLY ONE box is to be fnarked in each set of four boxes

This question paper consists of 5 pnnted

questions are missing.

- Ln the set ofbcxes nurnbered 15; the box thh letter C prmwd m xtls malm -

Candidate should check the question paper to ensure that all the pagﬁs' are prmtzd dx iadtcatad and lw

10. - On the answer sheet show the correct answer by drawzng a dark lize ms:de the box in wh:ct; the leﬁer yau

{= . 1s. The scale on amapis 1: 50000 Whaplex;gth on the map Qould,mpiesgnt a distance af;‘zsbfmeﬁes?’ '

wwmmm
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- Write sixty mxlhon six-hundred and s:x thousand

¥
: and sixty in symbois?
. A.60660080 . B.6OBOGOGED
< - C.80606060 - D. 8606060 . :
2 What is the product of - ”2 7 and 0. 82 rounded
- offtonearesttenth? ‘
. A59614 B.596 C.597 D.59.60
‘3 Warkout: 154 -(17 x 30+ 5) + 23
A.43 B.75 C.18 D. 438

Find the area of the shaded parfin aras .

oW
£.19600 B.42 C.15400 D.420
¥he area of a rectangie is 240 om?. 1t is 10 em
fong on its width. Caicuiaie the diagonal of the .
rectangle™?
A.25cm B.26em C.28em
‘Work out the value: ofx in

D.36em

“ 315 -3)- ;zus

A 5 ‘s 21 ‘D.8
. Whigt s the valueof:
L+ %x2%- hyof w1,
A2 - OB.1Y,

£ 1’/,5 -D.2%
Acyclist covers a dxstanc:g of 30 kmin 1/3 of an
- fiour. Whiat tsthespeeﬁans? o
- A25mfs . - B.90m/s

C.10mvss D.30m/s

i the fauewmg diagram, wmch ang!e is

'carrespondmgi’o angle P?

C‘l?_'.

A.n "B.r C.t D m

Biscuitswele packst iveartsns each cortaining
24 paciets: i edch: pachet

ck
& sy B. 2500 - C. ZEDE}D D. 250

simple interest at the rate of 10% p.a. How much

_inferest hiad the maney earned attheendof1% |

8. Acompany produced 1.2ennes ofbiscuits. The -

centained 200g of
b;scues? how - may ﬁﬂgﬂa of biscuits" were L

Muya deposxted shs. 22860 in a bank that gave |

|

§ 4e.

1 18

20.

21,

4

12. Amrange the foliowing fractions from the
smallestio the largest : 7/, /,;, oy
AL /4, ARSI W, Ty 2,
C. 1, %, D% A
The ratio of boys to girls in a schoolis 7:8 There
-~ are 24 more girls than boys. Find the total
- number of pupils there arz in the school. ‘
A 108 B.104 . (C.&a D.192
14. Mulusa paid shs. 455C for 5 tv set after a
- discamnt of 9%. How much would he have paid

if he was given no discouni?

A.Shs. 5000 2.8hs. 4750
C.8hs. 5300 . D.8hs. 4800
Asalesmanis paid abasic salary ofshs. 5000 per .

month. In one monih he eaied a total of shs.
8500. This inciuded a commission of 7% of the
vaiue of goods soid above shs. 20000. if the price
of each of them hs scid was shs. 500. Calcutate
the numbercf temns he had soid that month.
A. 350000 . B.&00

C. 30000 - o 90 s
Fifteen painters can paint a number of hou:es .
in 12 days. If the number of painters’ is
_increased by 5, how many less days wouid it
take the pamters working at the same rate to
paintthe houses? :

A.24 B.3 C.4
Ombajo woks up at 5.30 amatter ~s,ieﬂszran'ug for7
hours 45 minutes. Atwhammc indgm/pmdidhe

18,

17.

sieep?
A.8.45am . B.145am
. C.ed5pm ' D.Z.'iSam ‘
"18. Which one of the expression below ns the
simplestformof '
E{x+2v)i+32x .
2{x +2y) —2y ;- o
AS9x+12y B.8x +6v
2X +2y X .
C. 3+3y , D Q_.‘H-Zy
o 1-2y ‘ 2% '
Expreqs the ratio 5:8 as a decimal
A18 B.5.8 - C.06 D.0.625
How many days are there betwiéen 10th

- December and 10th February ? .
~ ABD B.82  C.51 4 D.83
A road 2.75 km was drawn on = piece of paper.
Whatwas the scale used xfthe lengthwas 11em?
A.1:2500 B.1:11 C.1:25000 D.1:250

month of JUNE he' spent 10 % less onfood tHan 3
in May. How much did he. Qpend in the month~of

e y&ars? ) _ _ June?
A. Shs.3429 B.She. 5715 A.Shs. 810 . | B.Shs.7200
C.Shs. A572. D. Shs. 26289 C. Shs. 9000 D. Shs. 8910
MATHEMATICS
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. Adoii spent shs. 8100 on food in May. In the |

- .




23.

24,

25.

- A.8hrs,

28,

27.

‘ és he mode ofthe 8 numbers?

- How much money could he have saved if the two I

atye ororaer Lommission
Shs. Shs., Cis
. {oetow 300 S0 00
1801-1000 75 oo
§001-16000 178 00.
+0001-1500C 210 - 00
15001-20000 280 ' Q0

- Kaveli sent two money orders to his son and

Simplity 8p-12 < 10p+8
: 4 6 o
A.p>13 B.p<1',
B.p=13 ) D.p<13 -
A flower garden is made up of two semi circles

of diameter 280 m and a rectangle measuring -

400 m by 280 m. What is the area of the. garden
in hectares?

A.112Chz B.1736 ha

C.818ha D.17.36ha

The piz chart below shows how Ann spends her
time each day. How many more nours did h
speno atschooi ’rhan ingames -~

C.90hrs ‘D. Zhra

B.8hrs
Constryct an equilateral triangie WXY of sides 8
-cm. Drop a perpendicular line from point Y to
meet line WX at M. Measure line YM.

A.dcm B. 8cm C.7cm D.6cm
The mean of 8 number is 6 */,. Seven: of the
numbers are 8,8/, 11, 12,7 %, 10 and 9 .What
8 B.9 C.11 . DT )
, Ca!c;uis ate the area of the figure bsiow
{xtq)

@x_._@

A, 12om? L2 E‘J 5. 240 em?
“C. 340 om? D.420 em?

‘Fhe table below shows the commissicn cf:‘ -

sending money through the post office

‘daughter in two different schools to pay their
schooife2s balance of shs. 7800 and shs. 10,500.

kids were in the same school and one money order

"+ wasusedinstead oftwo?

A.Bhs. 105 B. Shs. 280
" G.8hs. 175 0. Shs. 225
A family uses four packcta ofmik ev eryday Each .

A}

30,

packet contains */, litres of milk. How many -

decilitres does the family use in three weeks?
-A.830dl B.83d! C.90dl

D.60d!

31

32.

N

S

Tap A can, n' # tank in 8 mirst; wesm can -
empty the same i&nk in 10 mirutes. if the two

taps are opened at the same time, how long: w\ﬂ?

Bdon-ms &

it take tc fill the tank ?
AL xamms .

C.4% mins D.9mins -

T..zo motonsts left Ma;ehgo for Busia at 10.45
am. Onetravelledata speed of 60 krm/hrs while

the other travalied a: 72 km/hr. How far &part

were the two motorists af 12 ncos

A 183km B.25km 1:mm 2. 36km

. Aquadrilateral has the fohuw:ng properties

" (DHas two sets of parallet Tmes

34,

35.

(iDAllsidegsarsegual .

(i) Diagonals are iis perpenducu:ar bisectors

butare hptequal
(iv) Opposite sngles are. aqual
{v) The diagenais intersect at right angles
The properties above refer tg; -
A. Square : B.Rhormbus
o] Pa’a”ebgram D Rectangie
Vaﬂence was sent to the shop to buy ti"e
following items: .
- 2kgsugarforshs 260
-1%bars of scap @ shs. 136
-3 loavesof brcad @ Shs. 58

- Six_200. g_packets oiitea.teaves Ct,sh& 15 .

perpackst.

She wszs given shs. ;IOOO note. She was given.

the corract balance but on the way she'lest shs.
5C note. How much did she reach home with 7
A.Shs. 222 B. Shs. 272

C. 8Shs. 481 D. Shs. 132

The table below shows bus fare in shillings pa:s‘ N
_between Kakamega and Bungoma '

~ (Kakamegsg

00 rSorangs
1150 100 . Mumias .

180 {130 30 Haram%ér
{250 . {280 100 . {70 | Bungoma

Andahwa traveiled from. kakamega to Bungoma.

- He stopped and’ charged to néw Matatus . at

~ C.Shs.50

36.

| a7,
' AB=8cm BC= 6 cm and angle DAB. =
- Drop aperpendlcularfrcmctomeet_lmeBai_X. \

Shianda, Mumias and ‘Harambee. Chweya at
travelled from r(akamega to Bungoma in one

- _-bus ‘How much more did Andahwa pay for
' _matatu fare than Chweya?

~B. Shs 300
S -D.'Shs. 250
Lisamadi is. 10 years older than Opth Opiliis v

A.Shs. 100 .

- years old now. What will, be the sum of mexr
-agesinten yearstocome. _

A, 2y+ 30 | .. .B. 2y+10
C.2y+40 T D.2y+20
Construct a paraue}ogram ABCD m whigh
105 *,

‘Whatis the length of BX ?

TAL5.2em 863cm CSO cm - D.1.5cm

VIHIGA MOCK ™ - YEAR

2014
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| 38. Thetable below shows the number of
SR :,.e\g.'si,:ap=r=h!f‘f*u*‘nﬂacnﬁa;"w'aa' )

below shows the number of copies of

Day}f/Week.

'Sun' Men! Tue l Wed | Thur

J; I

+ i’ R 1
No of comes sosdi Ze 130 !

32‘ 46‘}

41.

A2Kkm . B.3km

Ofﬂ"a‘!‘towﬁ 7

. A.480

-Magybens ‘money. How mu‘.h money i \tbwy
“have a}tﬁgetnnr‘? S
A.9000 et B..‘IDSOQ ' -

C. 12000 -D.21000

A copy of the newspaper is sold at shs. 4
Saturday and Sunday and shs. 25
days . How much money was collect c.‘ ? r:;n
sale of newspaperthatwesk 7

. A.Shs. 5250 ’ B. Shs. 2800
C.S8hs. 6690 D. 8hs. 7850

38. The level of water in a tank was 1500 litres. i
. dectéased by 20 % each day. At the end of the i

. seond day it rained. heaw#y and 200 litres was

: ‘added. How much water was intre tar k; atthe
- - beginning ofthe third day ?

s

A.1024L B.1224L C. 1’4801_ D 1580L
Theto@snrfaceareaofadcsedomdens 748m=
* ifthearea ofthe curved surface sd 4 m?. W“xatxsme
diameter ofth c:y!rnder'?
(Take e="7,)

A.0.49m B.O7m

‘Maembe was born 20

when his father was

~ years oid and his’ mother 27 y=ars oid. After how |

'long is the mean age of !V‘am":be and his

\ parents going to be 39 years.

LA BDvrs: B xgy's - C.21yrs D. 3244’5
Ombevas home is 1 km furthar from schoo!

‘- than Lancgwa’'s. Both puptls walk io schooi in
- the moming and back home i in the evening. if in
% days both pupils walk a toial of SCkm, how far
Is Lanogwa's home from school. »

C.24km  D.522xm

A third of the .pupils in class were absent . A
_quarter of the absentees were girls. How many
pup!is wers abseni if 4 giris wersabseat,

A 43 ‘B.12. C.18 D-32

tna town ﬂwere are 20000 men. The children ar=
10% more than women. The men are 2% less
- than the children. Wha wa., t";e lO'ia’ napu!at‘c.
\ B 38760
.Mr. Kanziica' buught a bu:yv!e ‘cr shs, 3200 He
Soid it later =t 2 luss of 15%. f he was given shs.
3000. Howmuch balance did ne give the buyer?:

. B.32680 C.280 D.2720
. Ofiende and Magyben have equal amount of |
manev 4 Ctiende gives shs. 1500 to Magyhen
't_herr ‘Is of C*xende s money will be. equalto '/, of .

C.14m D.3.08m

of
or

:~J

the figure below. where a=i

I

e R T 20
~ \O _ r
S
A T768m B.S41m?
- C.e2sm? D10 2 .
43. Use the qragi" below to znswer this
guestion. The graph beiow shows ‘-(csuas
;ggggg_vfmm 1*oigwnw andbg k*cx o
il = 2sh . = :
~ e e 10 o :
s : s mee S S e :
"z e
S s e
t,i o == S
< e
t;- = =
4 ¥ = 5
v TNE |
\Nﬁat was his average snead on "vs way ﬁ/
town xictown y? -
A B0 K:“L’f‘.‘ 3.82 3 kmithr
C.23C D.125kmvhr ‘
43. The cash :Jru::e of a video Zeck is 20% less than
- . the hire purchase price. f the htfe purchase
requires 2 deposit of sh. 2000 and 10 monthly
msialments of shs: 1060. What wcs the cash
p"ce ofthe deck ?
A.Shs. 12000 8. Shs. 8000
C.8hs. 1,000 0. Shs. 15,000

SL. Below are nets, which net will form a squarr.-_

. _based Py r==mxd

4. L
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READ THESE msmncnons cmuv

L Youhavebemngenﬂnsquesuonbookletandamtemmsheet.hqmmbookbtmmf»b‘

-

_ questions, . ‘
_ Do any necessary rough work in this booklet.

2. L o ‘
3. 'Whenyouhavechosenyouranswet,maﬂutontheANSWERSHBETnotmthlsquestlonbopklet

» HOW TO USE THE ANSWER sm:E'l' ' :
4 Useonlyanordmarypencﬂ o e o
5. Makesurethatyouhavewnttcnonﬁncanswersheet o E
: ‘ . . YOUR INDEX NUMBER'
' YOUR NAME
‘NAME.OF YOUR SCHOOL
6. By drawmg a dark line inside the correct numibered boxes mark your ftﬂl Index Numbgr (x.e) Sclmcl
- Code Number and the three-figure Candidate srhnnbcr)mthegndnmthetopofﬁnemswcr sheet
. 7. Do no make any marks outside the boxes.
8. . Keep the sheet as clean as possible and do not fold it. o
9. For each of the questions 1 -50 four answers arc given. The answers arc lettéred A,B C ,D. In each case only
ONE of the four answers is correct. Choose the correct answer, ‘. A 4 ,
10. © On the answer sheet ;hc correct answer is to be shown by drawmg a dark lme mside the box in wl'uch t?hc ol
letter you have chosen is written. . e ;
 Example
In question booklet: , L -
7. Animals adapted to hoppmg and leapmg has - -
' ASuong&ontlmbs e R BStronghmdhmbs
C. Streamlined shape D.Hollowbones S R = A
s s Thecorrect:mswer is B. (Strong hmd limbs) | B I i ot S S e { e
o On The answer sheet. o S e e B N

.[A} £83 [C] D} - (Al tB] [C][D] .' [Al 8] [C] tD] ,

.- It the First set, the box w1th the letterB pnntedmxt ls‘mm'k-gd"'
11.  Your dark line MUST be within the box. ¢ : R

B ThuQuesuonPtper éou_!sists'of SOPtmtedQuemms

'mm HOUR «wm o

u_‘m [B] [C] [D]. A o
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& Whic h ::fnc Cf the foﬂowmg mxxtures can be
: m‘arataa“rywrmuwmg?
A,' iy

A

. 8. Milletand husks
D: Flour and husks

A Acita- decxygenatea blood
B Pu?monary vsin- Oxygenated biood
i c, vgnac,avﬂ Dﬁoxygenatadbiood

(i}Long feathery st;gma ) o
mﬁcented : o
Pmﬁe\maﬁla‘gesﬂckym orains

ﬁv} Smallirsize '

isfor aninsact pollingted flower? - ,

A L andi B.inandii

C.ivandi BRI & A wandiu ,

¢ <A graat tarmer- Mr. Noah saw pests which ware
aﬁadgm_gsfsedkngsofhiscmps. Mwhmmw@m'

. . D C’utworms o
o Kageha 'S moufby ard rabbits were bemg a*z:es.&m
twparasites, thess couldbe ?
A.Ticks and lice = ¢ B F!e’asandmitas :
| C.Miites and ticks D. Lice anc mites - _.
Which one the Toilowing matanais wilt niot sink n
 water evenii their shapes are chanped?. :
+ A, Glass and aluminium . B. Woed and glass
- C.Woodandwax D.Glass andwux
Jotw, & cless eightteacher taucht his  class adaptztion

adaptafionfeatire?
A. Thick barks B.Fewer lazves
C. Broad leaves - D.Freshisaves
Mr. Adegu a class geven teacher of Wancvuni
primary ted his class to investgate good and poor
com:ucmrs of electncmr 28 shown below.

v

L Y N

‘Which cﬂh= ma‘ana!s when Jsadmconned wires
atpoint X wil make the bulb light?
A Glassrod - ' B.Piecaof cotton thread
Gk teceofdrywcod D. Safety pin

s QORRECTLY matched with ts use?

- A Omygen- manufacture of soft drinks

'B. Carbon dioxide - In electric bulbs R :

C.inertgas ses-Usedtomakedryice . .~ . |
D. Nitrogen - Used by p‘ants to make proteing ;-
Class five of Musinguti primary schoao! carded ¢
an 'nveéﬁg tion on soil as shown below.

'~."-..

)

Which one.of the follawing pairs of characteristics

.. femtures of plants inwet arezs. \Mmmﬁﬂkwuwew“ |

~Which one of the folowing components m’ air s&' .

aiar oo bt i AL A

Respectrveiy the soil sémp:es R S.Twere B
A Loam, clayand sand «
B. Sand, clay ancfoam

C. Clay, sand and lpam -

D. Sand, loam and clay.

Sex calie inthe human body arg pmdueedby‘
A Pgnis andtest's
B. Vagina and penis
C. Testis and ovary S
- D Uterine walls and oviduct . ' -
12, Pupils of Chanduguyi primary school colleceed

garden scil in a glass and then poured water in it
They made .an obsan:a‘acn What were thay
wvastigating ?

A Presen = ofairin soit

[
fx

following are scurees m SNSIgY. Whmh group

mte of anly sources of chemical energy ?

Ssotnssmal, generator, cooking g=s, carbattﬂry._

o kerosang, chareest 0

L dvmamo, dy cadl.

5. wind driven’ gmﬁemmr 1nﬂﬁ:mgas '

. &f‘fhmh ore of tha followirg gmups of mactunes
consists of levars only? :

A Crowbar, spade and fishrod -

=3 Awmmmg road up a hill SR

C.Staircase, ladderand axe . -

o \_,r:waav tadder and spads

W’é‘uch one or the followmg is a method of

34

m t"nproved nkc for caok'ng
Ty biogas and traditional jl!’o Tcr cookmg
3 petrol cmnnratgr millto pump water
g aisss! grator to produce electricity
: mod in urine and feaces of a

MY
Ll

B Githarzia R
D. Malaria

2iia

 SCIENCE




18 The dtagram below repr&sents a set. up used ¢
_ investigate a certain aepect of hght The aspecx
being investugated is’ .

’ A.wa lighttravels RN B Reﬂection offight .
~.C.Refractionot fight ' . D.Makingarainbow '
19 What is the reason why a glass container is likely
. towrepkifhptwateris poured into #?
S A 1sbscausethe hegfadwaterexpands Lo
. 'B. Sudden convaction. of the- outer. side c,:? the-
) glasswall R
G The suddenexpansxen of amnthe contamet

D. The sudden expans;on of the inner_ side of |

- theglass .
Tha functson of the part represented by Risto

o A. Make !hs plgnt beauttful S
1 B.Helpthe plantin breathing -
= Q. Caryout reproduction inthe plant
D Help the plant to grow strongly
Which ome of the tullowing is NOT 2
~ et dependon plants? : _
Au For rsspirstion B.For pouéuatiefi
C.Foriood D.Forsheltar.
The folowing ohservations wérs made by pu*a!s ef
. .- iy schooi about tnﬁ stem Q. & c‘v“w

2%, reason why.

22,

: = wax Is‘*er
S (m) Hsz:s “woden tls»SU@e
Lo oThe _i&ﬁf wasmostlikelytobe : :
o _A,Mal zplant . - B. Waterhyacmth
- @G.Cacusplam | D.Acaciaplant
. '23. Thefoilowing are causes of food porsonmg
- (DChemicals ... (i) Micro organisms. .
(Y CQekmgfpod (iv) Addmcn of preservaﬁves
~{v) Expiredfood JETEIN
. Whichg the above are cor—ect‘7 '
AldilivvE BB Cliivve DLV
A class five pupil of lkurhka primary saw an annmal

24.
HER sca‘res Invmldngroupdcesﬂ‘:eanlmalbe!ong ?
LA Mammah - B.Reptile
S Bird - .~ D.invertebrate
Viick ane @‘E &!’%& following deficiency diseazen is
' ﬂk&iﬁ! o beacaused by lack of iron inthe diet ?
& m»w:@m@rkcr B.Anaemia
. Rickats - D.Marasmus .
Whiich. oneof the followmg are substances that are
inthe same state of matter'? ' ,
A Water and ice
8. Airand watervapour

2€.

oA

- that had varied body temperature, Iay eggs, and had |

3

FEF AT R

L 31.

R {2
- 28. Namethe partiabslad KL

29. Wnich one of the faldwing yeon v

C. Pure glue and softwax ,

D. Watervapour andclesnail -

27 Lilian ‘was nt by her father to go and buy
' medicine that prevent ir :c*,cn "This medidne is
sometlmes known as

_ A.Vactines medicine "B, Cuatwe medlcine
. Stimulant medicine . Narcotics

| ua_ths_;diagt.a.m_glﬂw to mhwe__gung

N f‘-""

A. Mouth, pancrease, largs inz sl :
- B. Smallmtestmes pancz‘easa: rE::tum ,
- C. Oesophagus, snus, rectum :
. D.Pancrease, rectuam and Sl by u:‘*st!nas

form of injection ?
A Tuberaulosis (TR)Y
8. Dlphth;na tetanus.
CoPolio : :
D. Measles and yeéww fever Rt
- The following are modes of trane: vs&mng cﬁsea‘e:
(E)Jsmg unstenilized instrunenks .
(i) Sexual intercourse "
(iii) Blood transfusion .. .
» (V) inhalivig contaminaled o1 -+
" {v) drinking contaminated w ‘,u* .
T Which ones cantran&m};u "
Aldliwv 7 BV L
- I the envivonment, ons of ¢
- msthod of dontrofling poliv
CAoEellingoldpaperstc arn :
B, Diriving welt serviced malor verioies :
C. Burymdomshcwaahsuch a5 puaymane bags
. Planting grass a: geou:

A, serosol’ sprays -
- B. drinking dirty water -
.C. ‘planting crop in contammat:-:s «mnj

D. breaﬂunghcontammatﬁdhsr ‘

.. 33. “The following plent s%m:::i:v.:ra Bl own be&ow !8’ o

. used by plants for- .

Apmdu:mgﬂowers e
+ C. support D *r?crmg sunhght
in the food chain beiow, what russ  ts givery tcw the
omniores as part of the chain )

Greeo plant->-herbivore-s carmivor w->0mnwore
A Tertiary consumer B ﬁftm"x censumer

34
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36, Thefollowing diagrams showthe beaks dfvarious birds.

e ;' repments what thé birds on respeotwely ?
B S . 1Y

grains_ “nectar ﬁ}terfaeder

T flesh " nectar _ fiterfeeder
Lo F nectar gran .~ fiésh
"D, Nectar fiker < fiesh grains

; ,v_'w

et 37. Which pairs below is of magnetic materials ONLY ?

B vt ey,

&‘r:

C. producs— D. secondary consumer

n’p @iy diiy dw
Wmch .one .of the foliowing ' arrangement’

i

‘36, Tho di‘égram Bﬂelow shows a mmpliﬁed

‘ The planh represantad by*‘X and Y I’BSPGCﬁVdV are

A.Wron and alluminium . B. Cobalt and Chromium
S X Zoncand'ﬁn : LD, Almcoand copper
38. Whnch of the followmg grazmg methods requires
N mostlabour? o .
© - A/Practising strip grazing B- _Practlcmg hordmg
C,Pracﬂcmg stall feedind D. Practicing herding

36. A fammer descnbed a cow ta a livestock officer as | ;

follows:= . . S

-ﬂ(l)Having no appetnte

(i) being inactive and sleepy

@if) havmg averyroughcoat =~

(iv) Passing blood staineddung’ -
The cowwas mostlike!yto be:.- .,
“A.Overworked, B. Very strong
- C. Pregnant D. Sick" -

" draw symbols showing a cloudy and rainy day.

tho :ymbols

1. vwdchoneofmefo gweaﬂwermsﬁumentsas
NOT correctly matched to its use? .
A. Thermometer - To measure température '
‘ B. Rain gauge - To meastire the amount of rainfall
. C.Wind sock - - to tell the direction of wind-
' D.Wind vane - To measure the stréngth of wind
. Std.- six pupils were asked by their smncc

Y:' ‘5 Which one of the following shows an advantaga M

"’.A;Bread mould s Omon

B Mushrooms.. “Peas : L

T CoPuffoall o  “lichens. . - 7 S
. D.Carrots . . “Afrowroots

- 46.

‘a7,

'40 F’UPil! of Chambal:wgnmary school were askad to |
' -Which of the following d:agrams best represbnts B

’ teacher to state three sources of water. They gave
the foliowing ! -
Omundi - Tap, river and lake
Musimbi - Dam, spnng andtap -
Obuluku- Rainfall, riverand lake
Zaina - Rainfall, tapand well
Wpo gave the correct answer toihe teacher?
A.Obuluku B.Zaina C.Omundi D. MUSlmbl
A sdience teacher of inyarza Primary school asked
. _her class to identify whether waterin two’ containers

’ washardorseﬁ.‘hknd:amwwglwnmmd. ‘
_ A Hardwaterhas moremineral saits than soft water.

B. Softwater gets milky withsoap =

C. Soap can dissolve in hard water eaily

D. Hard water attracts soap inwater

_The following are characteristics of a e.Mn soil.-
--Forms longest ribbons R A e

-Hastheslowestupmamy T e L

-is poorly erected . e ; o ‘

Thesoilislikelytobe - R
.:,A.Muddyloam , BChysoll - ERE

C.Sandy soil D.Amndumofdayandsandsol

s

-

~ using manure in the farm?

A Makes the soil acidic
"B. Encourages living orgamsms inthe so:l o

C. Kill soil orgamsm ; '

D. Stops soil erosion

‘Which one of the foilowung is NOT a dental

ilness?

A. Dental cavity B. Dental caries . -

* C.Dentalfloss oD Glnngitxs

Which one of the following is a special sound?

Ca

.~ A. Sound made by ambulance siren -
" B. Sound made by abarking dog
C. Sound made by achilderying -~ -
D.’'Sound made by music from the'radio ,
The followmg are observatlons made when
- various liquids were mixed: -

as .

tm tm)

e

“Which mixti._xres'prepared were home gencus -
A. (), (iii).and (iv) . B. (i) (i} and (iv)
C. (i) and (iv) . D. (i)(iii) and (V) =
. A fishing rod is one ofthe simple tools The laad is’
most likely shown by letter? ‘

. Wh:ch one of the followmg is a disadvantage cf W
friction? R
A. The surface in contact slide overeach other T
B. The surface gets facilitates motion : .

C. The surface gets hot when rubbing over .

b

' vmr- GA VEAR 2014

D The surfaccg tsroghwhenmcomaot ;
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11 YourdarkhneMUSTbewmlmthebox ' A
120 For each questmn ONLY ONE box is to be marked in each set of four boxes _
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TIME ;2HOUR 1SMINUTES
> ' READ THESE INSTRUCTIONS CAREFULLY
1. You have been given this questxon booklet and a separate answer sheet. The question booklet contams 50
' questions,
S 2. Do any necessary. rough work in this booklet.
3. When you have chosen your answer, mark it bn the ANSWER SHEET not in this’ qmesticmboolﬁef
~ A HOW TO USE THE-ANSWER SHEET

4. Use only an ordinary pencil. = ' O v S

5. . Make sure that you have written on the answer sheet: L o T
YOUR INDEX NUNIBER ’
, YOUR NAME
. NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (1 €. ) School -

Code Number and the three-figure Candidate’s Number) in the grid near the-top-o@ﬂmmsheer

7. Do no make any marks outside the boxes.

Keep the sheet as clean as possible and do not fold it. e :

9. For each of the questions 1 -50 four answers arc given. The answers arc Jettered A,B C D. In each ca,sc only
ONE of the four answers is correct. Choose the correct answer;

%

10. 'On the answer sheet the correct answer is to be shown by drawmg a dark lme mmde the box in whxch the

Ietter you have chosen is written. -

Example
In question booklet: .
24. The main reason why natlonal anthem is important is because
A. It was written by famous musicians B.It was written in Natlonal language
C. It is a national prayer - D. It promotes national Intergration
* . The correct answer is D. R ' ' ‘
.. On The answer sheet:-

@41 31(C1iD) wiElce] B wplc®  @mB o

In the Flrst set, the box with the Ietter D printed in 1t is ma.rked

‘This Qu_"csti’cm Paper éohsists of 9IO~.PIir'xit’ed;Q.xi_’éstiq'r1_s_;

VIHIGA DISTRICT-SF5> - SOCHAE STUBIESHERE~ ~—MOEK: 201~ =
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- BUSINDE AREA

: (P
&

0"4’
ISTRAHES % g

XSG AEL S =
\‘ - \M’—"'

. Golf
_course

<&

Yoy o deseort

- A.Southto North
- C.SouthtoWest -

. The approximate le

: ;-_Eusinde areais____

' Businde area are

_A. Administration and trading
- B. Quarrying and lumbering

‘C. Crop growin? and
D. Trading and tr.
' Thetypeof s

das

guestlons1-7. A L R
.- Theland in Businde area slope from "

A 22km " BZ5km C.20km  D. 18km
The two main economic activities carried out in

d transportation ,
,of.setﬂement found_ in Businde area can be

B. North to South ) '
D, NorthtoEast
ngth of the tarmac road in

s

tourism

B. Nucileated

‘area :
C.Warmclimate
roadis

A.Leveicrossing
C. Footbridge

| 7. The climate most lik
southern partof the map is

A. Cooland dry
C.Hotand wet

the

5. What is most likely to
A. Mountain climbing

6. Theroad sign that is likely t
- town Where ther itway Hn

8. . Which one of the foll

Air Strip
FEE 9
————— Town"Boundary‘ ... @ Settlements Q g;} Forest - @ Maizé'farmh
: _- ‘Parmanent buildings gt Railway line PP Police Post
_ Tarmac road _ @% Tea plantations ‘ @ ) Air Strip s PO Post Ofﬁge ‘
-,,-'5;53(—~'Bridg_e { Ovv“Golf' course Game park | @ School
| S3 River Q( g Quarry Mosque | |
Study_the m usinde area_and_answer C. Lihear D. Densely distributed

attract tourist in Businde.

'B. Playing Golf
D. wnég%ma:s

o be used within Bagia
e is meeting the tarmac

B. Zebra eressing
D. Black spot

ely to be experienced in the

B. Cooland wet.
D. Hotand dry

; owing statement is true about
tRe location of the Namib desert? itis locatedto

A. Evenlydistributed
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43 The dragram drawnis an artefact that was used by
some communities to store milk. Which item was
- . most lfkely tobe storedinitb the plain nilotes
. A.Porridge B.Blood C.Grains D.Tea
44. The non-verbal means of communication that was

used in the past to warn of an impending danger

was

A.Smoke B.Alulation C.Wailing D. Cryi

ng
45. Three of the following statements are true about the

constitution of Kenya which one is not?

A. It contains the structure of the government ’

at all levels and their functions
B. It outlines the structure and fungtions of the
state officers.
~ C. It contains unapproved chapters whlch are
not necessarily followed.

D. it states the power and»functlon of ‘the:

government
46. Nyagodhie an illiterate woman has been denied a
chance by her husband to join Maendeleo ya

wanawake group. Whuch freedom has- she been

denied
A. Freedom of expression
B. Freedom ofAssociation
C. Ownership of property

. D. Freedom of speech

47. Three of the following are the m_a_n areas of

admmlstenng firstAid except?

A. To promote recove .

B. To enable the m]ured person to. get to a
doctor.

«C. To prevent further inju .

D. Toreassure the injured person ‘ -

48.The followmg are importance of African socialism

except?

A. It encourages citizens to be fair to one
another.

B. It promotes equal distribution of natnonal

wealth.

C. It promotes social injustice and appression

rule of law.

D. It encourages equal sharing of opportunities
whenever they arise.

49. The body in charge of elections in Kenya has no
right to do the following except
A. identification of the electoral boundanes
B. Dissolve partiament after5Years® = .-
C Determine the election fpetmon filled in court
D. Denytheregistration.of a political party.

50. Most people below 35years of age in Kenya move |

to urban towns mainly to
. Join higher learning institutions
B To search for employment opportumtles
-C. Toseek better medical services.
_D. Tosearch for better farming methods

5jl The mainreason why pupilsina school put onsome '

- school uniforms is to?

A. Tomake themlook smartand presentable

B. Most of the pupils lack civilian cloths.

- C. ltpromotes equality :rrespecttve of ones
background

. D._School uniforms ‘are cheap o make and

materials an easily available -

x 52 Which one of the following s ggi an. effect in\:.

- lawlessness. .
A. Adequate social amenmes
B. Insecurity

- C. Destruction of properties.
D. Political disorder ;

o 53 Fhe main reason why Africans were not allom to -
: grow cash crops by the colonial govemment was [

ecause?
A. African main economic activity was livestock
keeplng

- 60. Thiga,

Gi.fWhy did God create human bemgs"

B They had earlier given themr‘to

QSt of the land owned
munally owned
esence of crop diseases hinder them from

ag‘wmg cash crop.
fican were to provide labour for the setﬂers
. Msch one of the following is not a dairy breed of

msey B. C-harolats
hire

by Africans was

Je -
ch one of the foﬂowm statgment is untrue'
it the functions of the LaibonLenana
He organised initiation
- emonies in the community - o
o He was both a spiritual and rehgous leader -
: : commomtgl P
dtstntgute land to the’ members of the
muni
e settled dzsputes among. clan members in.
community

h of the following actions by the gevemment\ -
i best promote national unity in Kenya? :
.. Provision of recreational facilities
nstruction of tarmac roads.

ent oftrrbran centres :
ovision of health centres : ;
n function of the international bodythatwaa .
1mmedratety after the second world war. in B
was to :
distribufe food in famme stncken areas -

B &gees camps and poor people.

55.%

-and. marnage

er financial aid.
= encourage research on diseases and
D ml%e‘ cr;nedlc':al ?ssstance h
a lasting peace in the world and

uganmnerway
58. The East African community members states have

og up with several ways of promatmg trade
except?

Aloharmonise currencies of members state.

: encourage member states to - produoe
ilar goods.
Lo-ordinate same economrc planmng and
rgoods. -
D To remove any restriction on trade between
member countries..

59 ‘Which element of the Kenya constitution explams o

therigitardfree domoﬂ(ewan cmzen?
A. The bill of right
B. Citizenship ™
C. The republic
D. Leadership and intergrity
of the followin g were xmportanoe hctors that . -

determined the kind of house built by traditional -
Afnf;ans inthe pre-colonial penod Whtch one was
- no

A. Climate ofthe area B. Culture of the pe le

. Size of theclan - g F unction of the: h%e

' A Tomump!yand fill the earth
- BeJvtake care of God'screatnon
_;'_-_C Moruleoverall otherammats D
-D.- Sothatmancanbegreat. - ' :
. .Duging the Passover the lsraehte/ wgmen were
»commanded to go.and borrow. Jewelhﬁeefrom the :
E ian women this was to signify ; j
twasa sign thattheywereon lewe
Egyphan e
wemenforweddmg_ §
e “They should nof Ieave empty hea;!ed bug?r
have compensation '

D."Moses knew that they would use them to'--f
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. make Goldencalf . - - :
83. Who among the following kings of Israel broke .the
-i6th, 7thand.10th cammandment
. A.Ahab = B.Solomon C. Saul D. David
. 64. Saul was rejected by God for doing three of the
. followirig things except? ] : ,
" A. Perfofmingthedutyofapriest .
B. Leading the Israelites against the philistines
C. Consuiting a medium fromendor RRAR
. =.'D. Sparing thelife of kingAgag. A ‘
. @5. Gideon a judge-in-israel came from the weakest
- _.clan of Abiezer fromthe tribe of . ;
7 "A.Manasseh : -.B.Reuben
C.dudah: . - 'D.Benjamin
66. A prophet who was appointed by God to be a
.. spiritualwatchman over peoples live was called?A.
‘ "Amos - .- B.Hosea C.Jeremiah D.Ezekiel
' 67. The sexual misuse act which was committed to the
" only daughter of Jacob and Leahwas

i Al prostifution B. Beastiality
v rC.Rapel b - D.Lesbianism .
Gehazi the servant of Elisha underwent

i 08,
© 77 following type of suffering. Which one? )
A Mentalsufferings ~ B. Physical suffering
3 ‘C. Emotional suffering  D.‘Spiritual suffering ,
. '69; The main lesson Christians learn from the story of
= ‘Naomiand Ruthis that they should be
; A. Loving and forgiving -
v, -+ B. Obedientand honestly
%, C. Humble and.courgeous *
o P, Kindandcaring PR :
- 70.Jesuswasbornina then he was placedina
oD respectively. C o :
< . A’stableandanger B. cowshed and staple
~...C.mangerand stable’ . D.staple androom
. 71.Mary the moth of Jesuswas a native from
) oA BethieheminJudea - B. Samariain Jericho
o = 'C.Nazarethin Galilee D. Canain Galilee
0 72.Mark 6:10. "Wherever you are welcomed stay inthe
o same house until.you leave that place”. When did
- Jesus say these words? o
A. When he healed the ten leapers.
B. Ataweddingin cana with his mother.
C.When he was welcomed in the house of .
s Zacchaeus ‘ ; :
-~ D: When he sentout the twelve disciples .
. 73. Amiracle of Jesus that shows that he had power to
‘ forg&ve singisthe? . . :
A. Healing of the two blind men
B. Healing ofthe paralyzedman .
'C. Healing of the manwith evil spirit
" .D. Healing of the man who could not speak

do what God requires for
: . "The kingdom of heaven belongs tothem.
B, God will call them his children
C. Thewill see God. -
. D. God willcomfort them
75. Which one of the following was

Ry

¢ " 'shepherds.as a sign of the saviour w

iven to the
e o had been

- A. They would find him:inainn with his parents

‘man. .

Y C. Thewould ﬂhd hsm Wi‘apped in strips of cl'othé

#7 heavén's angles singing R
.+ 76, Fromthe parable of the good.Samaritan the injured
o ;manwas’,iﬁ?i\retﬁngfrom R ¢ '

o
sruslam to Gaza. .~ B. JerusalemtoJericho.

~ « C.JerichotoGaza D. Samariato Gaze.

« " Christians can learn to

the -

74. Happy are these who are persecuted becausé they

. B. They would find him with an angle and the wise -

D." They would find him with a great army of

'77.. From: the story of Lydia who liyed in philippi

78.

79.

80

B. God has the power to restore one tolife.

C. The good things you do will make men of God
to burry you.. , .

D. By giving food to apostie one is likely to go to
heaven

The following events took place on the day of

pentecost except

A A goise from the sky was heard like a strong
wind. o :

B. The clouds open and earthquake shock the

_house

C. The disciples spoke in differentlanguages

D. Atongues.of fire was seenon them :

The Bible book that talks about the rebuilding. of

the walls of Jerusalemis calied

A Joshua B.David C.Nehemiah D.Acts

Among the seven deacon choosen who among

them was a gentile from Antioch who had been

converted to Judaism -

A¢Nicolaus B.Timon C.Nicanor D.Stephen

81. A true religion is that which takes care of orphan

82.
. A.love portion
83.

and widow, these teachingBis according to
A. St. Paul . Jesus Christ
C. St.Luke D.James ,
The following are African practices which are not
campatible with. Christianity except ) :
B. charms and amulets
C. clictodonamy D.Dances and gestures
In-traditional African society the newborn baby
together with the motherwere seciuded mainly to
A_Give the baby time to grow and the mother time
. tosearch forfood, :
B.-Teach the mother herrole in the societ¥.
C. To protect the baby and the. mother from evil
eyes. B

_.D. To protect them from direct éﬁnligh’t that might

85.

. C. Critical thinking
86.

- 87.

- 88.

' 89.

affectthe baby.

. Which of the following African traditional'practice

is of simitar to baptismin Christiani

A. Reconciliationrites  B. Sacrificial meals

C. Offering farm produce D. Rebirth rituals

The ability to notice something after thinking
carefully or after studyingitiscalled «
A. Discernment. B.Judgement

; D. Creation thinking
Johnan Ludwig Krapt was expelled from Ethiopia
to Zanzibar. The personwho helpedhimwas ___
A. Sultanmaijjid B. Seyyid said
C.Mungopark - .. D.Lord Egerton

Which of the following is not a way Christians
serve the nation? ,

A. Voting to chose a leader

B. Payingtaxestothe government

C. Hoarding of shop goods.

D.. Praying forthe country )
The best way for Juma a married man to protect
himself from HIV/AIDS is by encouraging himto

A. Abstaining from sex S

B. Tovisit VCT regularly

C. Touse contraceptives

D. Toremain faithful to his partner S
The main reason why children should not engage
in drug abuse is that n o o

A Its harmful to their health

90.

B. lts expensive for them
C. lt'sleadtocrime
D. ltlead to poverty

actof Christian service

Which one of the following leisure activities is an .+

A. Dogenera! cleaning and arranging the house.
B. Visiting the less fortunate inthe community.
C. Visiting your long time friends. '

D. Listening to a furniture radio programme

"A. Believe i;}God and invite guest to theirhouses.
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A.

- g
-G
D Eastofthe Atlantic Ocean

_Which-one of the followin
* Africa-, is_-correctly ma ched with it's climatic,

Sou{h of the Indian Ocean
East of the Namibia ‘
West of Botswana A

physical regions of EAST
conditions 0
Physicalregion .~

' Climate condition

A. Lakeregion - .- Hotanddry
'B. Highlandregion ~  Cooland wet
€. Coastalplain - ~Coolanddry
- 'D. Nyika plateau - -~ Hotand wet

10.

1.

~A. Millibars ¢

Anemormeteris toknotswhile Airpressure is to

A, B. percentage(%)

C. Millimetres (mm) D. -Degrees centigrade(°C)
Forestry:in: the . Swaziland -is. developed mainly
because of : TR

A Ws'good road network.

© B. it'ssuitable climate

_ C. Skillsin conserving forest. ..
B R Wasastahle government

12.

The population of India is\incréafsing at a high rate
because : e ‘ , ,
A Polygamy is widely accepted.

its popukation. .. . ¢

" B.The country has enough food securfty tofeed

~C. Preference of girl child as a source of wealth. D.

_Thete"is - improved. medical care in the entire

13.

_country- .
The mmajor p! 1
lake.in Eastern Africais

A Presence of crocodiles and hippos.

B. Reduction of th¢ volume of waterthrough
_evaporation ‘

. ‘C. Presence ofwater hyncinth in the lake.

D.. Overfishing of dagaa for commercial use.

14::Which ofthe’ following was a result of German

colonialrule among it's colonies.
A. ‘Appointment of Africans as paramount chief

" incharge ofvillages

<~ German. :

B. . lLoss of fertile land by the Africans to the

oy

“C.#wrEstablishment of inter-racial denomination

.churches

5D < They: én‘couragéd and promoted African
. cultural practices '

15.
" Burunge - (iijy Sandawe . (iiij) Mbugu

‘Below are three communities iy Eastern Africa (i)

=The true statement about the communities lisfed

16.

17

18.

above is that they

it .

“AThey migrated into Eastern _Afcicar from the |

- NorthEast

“B.. “They were the first com_r_r}unities'to South

~in EasternAfrica. - - : : S

C. They migrated from the central Africa
region™ T

D. They first settied around Lake Tanganyika

The main cause of the formation of lcebergs.is
through .

A.Depaositien - - ~B. Volcanicity

C. Faulting D. Erosion -

Three of the following are reasons why livestock
farming is. practiced in Northern Nigeria by the
Fulani. Which one is.not? , ‘

A. The areaisinhabited by nomadic people.

B. The" ‘amount .of rainfall is inadequate for
crop growing.

C. The soils are too. poor
growing '
D. Theareahas adequate grazing land

One of the effects of urban to n ;ral migration on the
rural areais ' ' )

A. Shortage of proper housing »~

B. Increaseincases of crime

to support crop

oblem facing the largest fresh water

19.

20.

C. Landfragmentation

D. Increase in unemployment

Three of the following are effects the settlement of
the Luo into Kenya. Which one is not?

A. They displaced some communities they
foundthere.

B. They abandoned their main economic activity

and adopted trading.

C. They assimilated some communities e.g
the Abasuba.

D. They adopted some names from the Abagusii
and Abakuria .

‘The centra! part of Tanzania sparsely populated

because

- A. The area has a high altitude

21.

B. The area is set aside for large scale
farming

C. The area has many wild animals.

D. The areareceives unreliable rainfall -
Which one of the following is not a form of
initiation in traditional African society?

~ A. Sharing of beards B. Tattooing

22.

23.

24.

- document underprintmedia

25.

© C.Westto East

26.

27.

28.

C. Circumcision D. Knocking off the teeth
Which one of the following rivers in Africa is
correctly matched with the lake where it drains its
water

River Lake it drains into
A. R.Malagarasi L Chad

B. R. Malewa L.Naivasha
C. R.Shari L.Tanganyika

D. R.EwasoN viro (South) L. Turkana

Three of the following are some of the
recreational activities that were- practised by
African communities. Except

A. Playing hide and seek B.Hunting

C. Javelin . D. Playing football
The description below describes a ~certain

P

{i) Its an English publication. S P

(i) it's published by the government o

(ili) It contains government nofices

(iv) It contains new acts and amendments of
existing law R

A.Kenyatimes B. Hansard

C. Kenya Gazette D.Abill ’

élSSe the diagram windvane to answer question

In the diagranﬁ above the wind.is most likety to

hlow from _ .
A. South to North - B. North to South

‘ D. Eastto West
A child of eight years whose parents and
nationality is unknown happens to be adopted by
Mr.Okinvo. The child qualifies to be a citizen by
A. Dual citizenship B. Birth
C. Naturalisation D. Registration
Which one of the following least explain why
corruption should be wiped out in Kenya
A. To promote individual growth
B. To promote national unity
C. To promote economic development
D. To promote peace and stability
The zebra crossing on our roads are usually
indicated using white strips colour. The main




29.

30.

gue_s_t(gn§1- i ,

reason forthisis
A. White colouris easily available and cheap.
B. Its a regulation from the government of

Kenya
C. It's durable and easy to-apply on the tarmac.
D. Foreasy visibility by motorist
The following goods are major imports of Kenya
except.
A. Textile . B. Fertilisers
C. Horticulture D. Machinery
Which one of the following.groups of.communities
migrated and settled in central Africa during the
pre-coloruai period.

A. Wolof B. Yoruba .
Soninke Ndebele
Mbundu Makau

C.Lala D. Lozi .
Bambara . ‘Chewa
Susu Yao .

Use the ‘ma

of Eastem Africa._to_answer

r A

Wy
|
I"‘n ,
LRI 1!

1y

A o o

31. What tourist 'attraCtibrf“ist' common to the shaded

- areamarked Xan
"~ A.Pre-historic sitg -

. 32!

+33.

dN7=0
" ~B. Wildlife R

C.Rivers™ .. - D. Sporting facilities
'!l;f;eruntrue statement about the lake, marked Sis | - -
t - = .

t c - -l .

A. itsfound on the floor of the Rift Valley
B. Its a home for flamingoes. :
C. Itthe largest fresh water lake inAfrica.
D. Dagaais the main ctiype of fish caught

The mineral obtaine
used for the manufacture of
A. Making water filters
B. Making heatinsulator for furnaces
C. Making water pipes

. D. Manufacture of fertilizers and paints

35.

- 36.

. The feature marked T is likely tobe
_A. Mt. Ndoto

B. Mt. Meru

C. Mt. Suswa D. Mt Marsabit

Which one of the following is an example of a|

manufacturing industry?
A. Pharmaceutical

B. Power supply )
C. Laundry and cleaning
D. Cinema and theatre

in the Old Ghana kingdom the. provincial' Ghana. :

consisted of conquered states. Which one of the

fol:owing was NOT a condition the chief were to

follow. S ' :

A. They were to take their firstborn sons to
serve the kingin the palace.

B. They were to form small resistance groups

that wese:to Qverrule kings decision. e

rom the area marked D is |-

C. They were to contribute soldiers whenever
there was war.

D.They were to pay annual tribute to the king of
Ghana -

The following reasons led to the resistance of the

Ababukusu against the British colonial invaston

37.

except

A. They were encouraged to fight the British by
their leader Mukite wa Nameme. - -~ - =77 ' ¢

B. They feared the British would interfere with

their culture. : :

C. The wanted to maintain their  traditional

independence. _ woe '

D. They were given military support from their

tradition friend Mumia \

38. Which one of the following British colony ¢ountry is
correctly matched with its capital city. i '
:A. Serraleona-Libreville e
- B. - Nigeria-Lagos )
C.. Gambia - Banjul
D. Zanzibar- Bulawayo
39. European countries in purpose for the scrambie
of Africa colonies was to obtain raw material. The
main reason forthese was to : . T
“A. To facilitate employment of Europeans
- workingin industries S
B. To assistAfricans countries to export their
. rawmaterials® - ,
‘C. Tom meet the standards of international
labour laws towards Europeans industries.
D. To meet the .demands of goods towards .
industrigl growth in Europe RIS :

' 40. Which one of the Allowing political party in Africais
correctly matched _with its-founder? .

Politicatpa “Founder S
A. Convection —Kulrame Né%gtmah
s + . peoples R).
B. African National - pfbfélsoﬁa’h;gédﬁa‘l
g o Congbress (ANC) &
C. ZimbabweAfrican  -Ndabaning Sithefe
S People Union {(ZAPU)
D. KenyaAfrican - " -OgingaOdinga "~ =
. Democretcunion?»aKADp -

41. Jaramogi O'éingﬁ Odinga is best remembered in
Y S —

Kenya because , Gl e
A. ‘Went to school in Maranda and later joined
University :
B.'dHe was adf i ipart
-~ ., democracy.and fou or multipartyism -
C. He advocated for the arrest of
- Kapenguria sixin 1952. ' SR
- D. He participated i

. n
42.

the .

government in 2008. bt L
-Below are ma&or itical events whichtookplacein .
Kenya after 1945. Which of the following shows the
correctorderinwhichthey occured?
(i) Declaration of state of emergency in Kenya

by Sir.Everlyn Bar-ir:g, R

{h ‘F?Jr{nation of Kenya African National Union
‘{iii) The election of African Elected members

. organisation (AEMO) .. ~ 2

_(iv) The second landcaster House conference

washeld s
A iv,iiii i B v -
C. iiiLliiv D. iiiiiv

Use the diagra

democrat who be“ev‘e d .m R

the formation-of coafition
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